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Section - I (English)

Q.No: 1 Choose the most appropriate synonym for the underlined word in the given sentence.
The transient visitor stayed in the city for only a few days.

long-term

unexpected

temporary

permanent

Not Answered

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Impact of Deforestation

Deforestation, the large-scale removal of forests, has significant consequences for the environment. It leads to
the loss of biodiversity, disruption of ecosystems, and contributes to climate change. Trees play a crucial role in
absorbing carbon dioxide and releasing oxygen, so their removal intensifies the greenhouse effect. Deforestation
is often driven by factors such as logging, agriculture expansion, and urbanization. Addressing deforestation is
essential for the well-being of our planet and its ecosystems.

What is deforestation?

Planting new trees

Large-scale removal of forests

Forest conservation

Forest regeneration

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Impact of Deforestation

Deforestation, the large-scale removal of forests, has significant consequences for the environment. It leads to
the loss of biodiversity, disruption of ecosystems, and contributes to climate change. Trees play a crucial role in
absorbing carbon dioxide and releasing oxygen, so their removal intensifies the greenhouse effect. Deforestation
is often driven by factors such as logging, agriculture expansion, and urbanization. Addressing deforestation is
essential for the well-being of our planet and its ecosystems.

What are some drivers of deforestation mentioned in the paragraph?

Logging, agriculture expansion, and urbanization

Forest conservation

Planting new trees

Forest regeneration

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph:

The Impact of Deforestation

Deforestation, the large-scale removal of forests, has significant consequences for the environment. It leads to
the loss of biodiversity, disruption of ecosystems, and contributes to climate change. Trees play a crucial role in
absorbing carbon dioxide and releasing oxygen, so their removal intensifies the greenhouse effect. Deforestation
is often driven by factors such as logging, agriculture expansion, and urbanization. Addressing deforestation is
essential for the well-being of our planet and its ecosystems.

Why is addressing deforestation essential?

To intensify the greenhouse effect

For urbanization purposes

For the well-being of the planet and its ecosystems

To promote logging activities

Q.No: 5 Choose the correct option that completes the sentence logically and grammatically:
The students were surprised _______ the teacher asked them to take the Quiz.

when

through

at

for

Q.No: 6 What is the present tense of the verb "to swim" in the sentence"?
He (to swim) ______ every evening.

will swim

swam

swum

swims

Q.No: 7 What is the antonym of "Extravagant"?

Luxurious

Frugal

Opulent

Lavish

Not Answered

Q.No: 8 Select the correct plural for "basis":

bases

basis's

basii

basises

Q.No: 9 Which sentence is in the present continuous tense?

I eat breakfast every day.

I am eating breakfast.

I have eaten breakfast.

I will eat breakfast.

Q.No: 10 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:

He hardly ever misses a class, __________?

doesn't he

did he

does he

do he

Q.No: 11 Choose the correct meaning of the idiom underlined in the sentence:
Mohan spilled the beans about the surprise party.

Cooked beans for the party

Ignored the secret

Shared the secret

Kept the secret

Not Answered

Q.No: 12 Choose the correct part of speech for the underlined word in the sentence.
The old book had a musty smell.

Verb

Noun

Adjective

Adverb

Q.No: 13 Identify the punctuation marks to complete the sentence:

Sharon bought needles____ string, and ten bolts of fabric for her dress____

Period and question mark

Comma and period

Colon and comma

Comma and question mark

Q.No: 14 Arrange the following jumbled sentence into a coherent order:

A. Shade

B. Trees

C. Provide

D. Days

E. On

F. Hot

F-B-C-A-E-D

B-C-A-E-F-D

B-C-F-A-E-D

A-B-C-D-E-F

Q.No: 15 Fill in the blank with the correctly spelled word:
The marathon runner experienced sudden ________ in the middle of the race, causing him to slow down.

Fatige

Fatigeu

Fategue

Fatigue

Q.No: 16 What is the correct punctuation for the sentence?

They went to the park but it was closed

They went to the park, but; it was closed.

They went to the park; but it was closed.

They went to the park, but it was closed.

They went, to the park but it was closed.

Q.No: 17 Choose the correct option that completes the sentence logically and grammatically:
She decided to take a break __________ the stressful day.

of

for

on

after

Q.No: 18 Choose the correct meaning of "ubiquitous":

Inconsistent

Esoteric

Pervasive

Limited

Not Answered

Q.No: 19 Choose the correct part of speech for the underlined word in the sentence.
She enjoys swimming in the pool.

Noun

Verb

Adjective

Adverb

Q.No: 20 The cat chased the mouse. Identify the passive voice of the sentence given..

The mouse chased by the cat.

The mouse is chased by the cat.

The mouse chased the cat.

The mouse was chased by the cat.

Q.No: 21 Choose the correct word for "A person who studies and treats diseases":

Nurse

Lab attender

Pharmacist

Physician

Q.No: 22 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested, select the one which best expresses the same sentence in Passive/Active Voice.

The invigilator was reading out the instructions.

The instructions had been read out by the invigilator.

The instructions had been read by the invigilator.

The instructions were read by the invigilator.

The instructions were being read out by the invigilator.

Q.No: 23 What does the word "scrutinize" mean?

Ignore

Glance

Inspect

Overlook

Not Answered

Q.No: 24 Choose the correct part of speech for the underlined word in the sentence.
The technician repaired the malfunctioning equipment swiftly.

Adjective

Verb

Adverb

Noun

Q.No: 25 Choose the correct article in English grammar, that completes the sentence:
I need _______ glass of water.

the

a

an

No Article Required

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Q.No: 31

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51
What percent of 4 litres is 600 ml?

19% 19%

22% 22%

17% 17%

15% 15%

Q.No: 52 Simplify:

Q.No: 53 A plane flies at a speed
of 600 kilometers per
hour. How long will it
take to travel 1200
kilometers?

0.5 hours

1.5 hours

3 hours

2 hours

Q.No: 54 A sum fetched a total simple
interest of Rs.6000 at the
rate of 8% per annum in 3
years. What is the sum?

Q.No: 55 What is 12% of 40?

7.4 7.4

6 6

4.8 4.8

4 4

Q.No: 56 Sumant is 3 years older
than his sister Sowmya.
If Sowmya is 9 years
old, how old is Sumant?

27 years

6 years

11 years

12 years

Q.No: 57 What is the Least Common Multiple (LCM) of 15
and 20?

60 60

30 30

40 40

20 20

Q.No: 58 Simplify:

Q.No: 59 Suraj drives first 120
km in 2 hrs and next
180 km in next 4 hrs.
What is his average
speed for the entire
trip in km per hour?

80 km/hr 80 km/hr

105 km/hr 105 km/hr

100k m/hr 100 km/hr

50 km/hr 50 km/hr

Q.No: 60 The ratio of A's and B's
ages is 4:3. If the
difference between their
ages is 5 years, what is
B's age?

14 Years

13 Years
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15 Years

12 Years

Q.No: 61 A can complete a
piece of work in
25 days, and B
can complete the
same work in 50
days. How long
will they take
together to finish
it? (Approximate)

18.33 days

16.67 days

14.67 days

12 days

Q.No: 62 Sonal and Preeti started
working on a project
and they can complete
the project in 30 days.
Sonal worked for 16
days and Preeti
completed the
remaining work in 44
days. How many days
would Preeti have taken
to complete the entire
project all by herself?

60 days 60 

25 days 25 

46 days 46 

20 days 20 

Q.No: 63 Simplify:

Q.No: 64 A vendor bought 10
kgs of Potato at Rs.40
per kg and 20 kgs of
Tomato at Rs.30 per
kg. Then sells Potato
at 10% profit and
Tomato at 15% profit.
What is the combined
selling price of both?

Rs. 1130 Rs. 1130

Rs. 1100 Rs. 1100

Rs. 1190 Rs. 1190

Rs. 1000 Rs. 1000

Q.No: 65 What is the Highest Common Factor (HCF) of 25
and 125 ?

15 15

15 15

125 125

25 25

Q.No: 66 If 1 letter are taken at random from the
word HOMEOPATHY. What is the
probability that it is an 'U'?

0 0

1/2 1/2

1/4 1/4

1/5 1/5

Q.No: 67 In a competition, 30
students have enrolled for
debate and 25 enrolled for
singing. What is the
debate to singing ratio?

Q.No: 68 If the cost price of an article is
Rs.70 and the selling price is
Rs.90, what is the profit
percentage?(Approximate)

29.37% 29.37%

30% 30%

28.57% 28.57%

27% 27%

Q.No: 69 A merchant buys 10 kgs of
rice for Rs.60 per kg and
sold it for Rs.500. What is
the loss or profit percent
made?(Approximate)

16.67% Profit

16.77% Profit

16.67% Loss

15.77% Loss

Q.No: 70 Rohan borrows Rs.2000
from his friend for 1
year at 5% interest.
How much does he need
to repay?

Rs. 2100 Rs. 2100

Rs. 3050 Rs. 3050

Rs. 2050 Rs. 2050

Rs. 3100 Rs. 3100

Q.No: 71 The average of nine
numbers is 50. If the first
three numbers are 40,
60, and 80, what is the
average of the remaining
six numbers?

45 45

50 50

75 75

50 50

Q.No: 72 Simplify:

Q.No: 73
If you randomly choose a day of the week, what is
the probability that it is a Tuesday?

5/7 5/7

3/7 3/7

1/7 1/7

2/5 2/5

Q.No: 74 The average of six numbers is 72. If one number is
92, what is the average of the remaining five
numbers?

80 80

56.67 56.67

68 68

70 70

Q.No: 75 The ratio of 90 seconds to 1 hour 30 minutes is
_____.

Section - IV (General Knowledge)

Q.No: 76 The snow leopard has been adopted
as the state animal by which Indian
State/Union Territory?

Ladakh

Jammu and Kashmir

Karnataka

Uttara Khand

Not Answered

Q.No: 77 Who is the author of ‘The God of Small Things’?

Arundhati Roy

Amitav Ghosh

Kiran Nagarkar

Mahatma Gandhi

Q.No: 78 Recently India’s largest sports
science centre is inaugurated in
which stadium?

Kanteerava stadium

Chinnaswamy stadium

Kalinga stadium

Eden garden stadium

Q.No: 79 The third Anglo-Mysore battle was ended by the
signing of which treaty?

Treaty of Mangalore

Treaty of Nanjangud

Treaty of Srirangapatinam

Treaty of Madras

Q.No: 80 Of the following villages, which of
them has successfully reversed
land degradation and is known for
its tree density?

Rattanheri

Amarpura

Kalpi

Sukhomajri

Q.No: 81 Recent Bharat Ratna awardee
‘Karpoori Thakur’ is a former chief
minister of which Indian state?

Uttar Pradesh

Bihar

Kerala

Gujarat

Q.No: 82 Where is the headquarters of "Food and
Agricultural Organisation (FAO)"?

Rome

Vienna

New York

Washington DC

Q.No: 83
Food chain generally consists of:

three or four steps

any number of steps

one or two steps

two or three steps

Q.No: 84 Who said, “I will
not say I failed
1000 times, I will
say that I
discovered 1000
ways that can
cause failure.”

Watson & Crick

Gregor Mendel

Thomas Alva Edison

Adolf Hitler

Q.No: 85 Who among the following
propounded the ‘Saptanga’ Theory
of political rationality?

Manu

Charaka

Kautilya

Tulsidas

Not Answered

Q.No: 86 In addition to Article 370, which article has
been revoked?

Article 163

Article 31C

Article 46

Article 35A

Q.No: 87 How many valence electrons does a noble gas
typically have?

8

6

4

10

Q.No: 88 Who has been appointed as the first woman
chief of the Central Industrial Security
Force(CISF)?

Aditi Saxena

Shivangi Singh

Nina Singh

Avani Chaturvedi

Q.No: 89 OPEC stands for?

Office of the Petroleum Exporting Countries

Organizations of Potato Exporting Countries

Office of the Petro-chemical Exporting Countries

Organization of the Petroleum Exporting Countries

Q.No: 90
Where was Chanakya educated?

Nalanda

Vikramshila

Taxila

Ujjain

Q.No: 91 Which was the first
modern industry to
accelerate economic
development in India?

Iron and Steel industry

Textile industry

Information Technology

Tourism industry

Q.No: 92 Which of the following is not a renewable source of
energy?

Biomass Energy

Coal Energy

Solar Energy

Geothermal Energy

Q.No: 93 When is the Sadbhavana Diwas observed?

July 24

April 3

April 16

August 20

Q.No: 94
The Milky Way is a:

Star

Dwarf Planet

Galaxy

Planet

Q.No: 95 The substance that dissolves the
solute particles into itself to make a
solution is called _______.

Solubility

Saline

Solvent

Immiscibility

Q.No: 96 The International Court of Justice is located in:

Hague

Switzerland

Vienna

France

Q.No: 97 Ozone shields the surface of the earth from
______________.

greenhouse gases

solar rays

ultraviolet radiation

infrared rays

Q.No: 98 What is the full form of BOP in banking?

Balance of Payments

Balance of Process

Balance of Products

Balance of Programing

Q.No: 99 Who is the current CEO of Unique
Identification Authority of India
(UIDAI), as of July 2023?

Dr. Saurabh Garg

Amit Agrawal

Sharad Arvind Bobde

Dr. Anand Deshpande

Q.No: 100 Buddha got enlightened in the place __________.

Bodh Gaya

Sarnath

Rajgriha

Bodhi Vriksha

Section - V (Computer Knowledge)

Q.No: 101 What role does an
operating system's
Graphical User Interface
(GUI) play?

User interface design that is visually
intuitive

Hardware and software
communication management

Internet speed optimization

Memory allocation

Q.No: 102 A network that is
connected to the
internet ,but uses
encryption to scramble
all the sent through the
internet is called
_________.

My network

VPN VPN

Social network

ISP ISP

Q.No: 103 HDMI stands for:

High Definition Multimedia Interface

Higher Definition Media Interface

High Display Media Interface

High Diode Multimedia Interface

Q.No: 104 The space left between the margin and the
start of a paragraph is called:

Indent

Alignment

Gutter

Spacing

Q.No: 105 Which topology is a mixture of two or more
topologies?

Star topology

Ring topology

Hybrid topology

Tree topology

Not Answered

Q.No: 106 A user can get files
from another
computer on the
internet by using
_________.

UTP

Hypertext Transfer Protocol

Teletype Network

File Transfer Protocol

Q.No: 107 Which layer of the OSI determines the
interface of the system with the user?

Session

Application

Data link

Network

Q.No: 108 A Microsoft Windows is a/an ________.

Graphic program

Database program

Word processing

Operating system

Q.No: 109
In which view Headers and Footers are visible?

Page layout view

Print layout view

Normal view

Draft layout

Q.No: 110 The default port for HTTP is:

Q.No: 111
A template is a ________.

Pattern of worksheet

Theme

Title

Heading

Q.No: 112 Which of the following
properly masks your IP
address to assist you
in increasing your
privacy while surfing
online?

VPN Mode

Incognito Mode

Different Browser

New Tab

Not Answered

Q.No: 113 A webpage can be opened by using:

Universal Resource Location

Uniform Resource Locator

Uniform Resource Linking

Universal Resource Linking

Q.No: 114 Identify the valid email address from the given
options:

Q.No: 115 What is the speed of computer measured in?

Megahertz

Kilohertz

Nanoseconds

Gigabytes

Q.No: 116 DRAM is defined as:

Dynamic Rapid Access Memory

Dynamic Random Access Memory

Dependent Random Access Memory

Dependent Remote Access Memory

Q.No: 117 A program
which
helps to
create
written
documents
and lets
you go
back and
make
corrections
as
necessary:

Word processor

Spreadsheet

Word printer

Personal writer

Q.No: 118 Instructions that tell the



Q.No: 118 Instructions that tell the
computer what to do.
Another name for
software?

Program

CPU

Folder

Data

Not Answered

Q.No: 119 Which of the following is not
the correct method of editing
the cell content?

Press the Alt key

Press the F2 key

Click the formula bar

Double click the cell

Q.No: 120 In _______, the virus
places an identical
copy of itself into other
programs or into
certain system areas
on the disk.

Triggering phase

Propagation phase

Dormant phase

Execution phase

Q.No: 121 Which one is odd one?

Printer

Joy stick

Keyboard

Mouse

Q.No: 122 Computers on the
internet owned and
operated by education
institution form part of
the ______ domain.

Q.No: 123
Which of the following key is used to
make characters uppercase?

SHIFT

ALT

CTRL

TAB

Q.No: 124 Simple Mail Transfer Protocol is a simple :

POP protocol

HTP protocol

IMA protocol

TCP protocol

Q.No: 125 The advantage of Unshielded Twisted Pair(UTP)
Cable:

Costly

Flexibility

Installation is difficult

Low speed capacity

Not Answered

Section - VI (General Science)

Q.No: 126 Which one of the following shows the correct
relationship in terms of reactivity?

Q.No: 127 What is the magnitude of the force that controls
the shape of the liquid called ?

Force of condensation

Gravity

Surface tension

Velocity

Q.No: 128 Cloning is a mode of:

Fragmentation

Asexual production

Sexual production

Budding

Q.No: 129
What is book lung ?

Respiratory organ of arthropods

Respiratory organ of reptiles

Respiratory organ of mollusc

Respiratory organ of fishes

Q.No: 130 Organism produce their own food are called
___________.

Phototrophs

Autotrophs

Heterotrophs

Chemotrophs

Q.No: 131 The study of interactions between
organisms and their environment is called:

Ecology

Genetics

Physiology

Evolution

Q.No: 132 Which of the following is a major disadvantage of
fossil fuels as a source of energy ?

They are a reliable and consistent source of energy.

They can be safely stored and transported.

They contribute to air pollution and climate change.

They are abundant and readily available.

Q.No: 133 Homologous structures are
similar structures in different
organisms that have a common
evolutionary origin. Which of the
following is an example of
homologous structures?

The fins of a dolphin and the legs of a dogs

The eyes of an octopus and the eyes of a
human

The wings of a butterfly and the wings of a
bird

An arm of a human, the leg of a dogs

Q.No: 134 Which of the
following
vitamins is
mainly
produced by
bacteria in the
large intestine?

Vitamin E

Vitamin A

Vitamin K

Vitamin D

Not Answered

Q.No: 135 The major source of energy for our requirements in
India is:

Coal

Wind energy

Hydro electricity

Natural gas

Q.No: 136 ________ is a commonly found green algae.

Laminaria

Sargassum

Ectocarpus

Chlamydomonas

Q.No: 137 What is the name of the
disease characterized by the
underproduction of insulin by
the pancreas, leading to high
blood sugar levels?

Thyroid disorder

Diabetes mellitus

Adrenal insufficiency

Cushing's syndrome

Q.No: 138 ____________ refers to biological
magnification

System where consumption of various foods exists

Ecosystem where the micro and macro organisms
live

The number of levels in the food web

Increase in the concentration of toxin as we move
to the top of food web

Q.No: 139 Which species, when cut or torn
into parts, can regenerate by
growing back into entire
individuals

Lizards

Leishmania

Spirogyra

Amoeba

Q.No: 140 What is the full form of ECG ?

ElectroCardioGram

ElectroCardiogross

ElectricianCardioGram

ElectricalCardioGram

Q.No: 141 Which of the following metals has the highest
melting point?

Gold

Lead

Tungsten

Sodium

Q.No: 142 Which one of the following
statements is NOT correct about the
three states of matter i.e., solid,
liquid and gaseous?

Molecules of a solid possess least energy
whereas those of a gas possess highest
energy.

Gases like liquids possess definite shape

Molecules of a solid possess vibratory motion

The density of solid is highest whereas that of
gas is lowest

Q.No: 143 Kigali agreement aims to phase down

All greenhouse gases

Q.No: 144 Which of the following is NOT a property of light?

It can travel through a vacuum.

It is a form of energy.

It has mass.

It can be reflected and refracted.

Not Answered

Q.No: 145 Which among the following is NOT a noble gas?

Krypton

Helium

Chlorine

Oganesson

Q.No: 146 The core of an electromagnet is often made of:

Plastic

Wood

Soft iron

Rubber

Q.No: 147
Ohmic devices are those that obey:

Ohm's law

Archimede's law

Newton's law

Farady's law

Q.No: 148 The pH of a solution is 12. What is the nature of
the solution?

Neutral

Weakly acidic

Weakly basic

Strongly basic

Q.No: 149
Cinnabar is an ore of :

Lead

Iron

Tungsten

Mercury

Q.No: 150 The functions of _______ are to
transfer the received information
to the soma of the neuron.

Dendrites

Synapses

Myelin sheaths

Axons


